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Q.1) With reference to the carbon nanotubes, consider the following statement: 

1. They can be used as the carriers of drugs and antigens in the human body. 

2. They can be made into the artificial blood capillaries for an injured part of human 

body. 

3. They can be used in biochemical sensors. 

4. Carbon nanotubes are biodegradable. 

Which of the statements given above are correct? 

a) 1 and 2 only 

b) 2,3 and 4 only 

c) 1,3 and 4 only 

d) 1,2,3 and 4 

 
Solution (d) 

EXPLANATION: 
 
Remark:The fourth statement is doubtful, but even by eliminating it, we are not getting any 

option as 1, 2 and 3. All the other statements are correct.  

CNTs have been successfully applied in pharmacy and medicine due to their high surface 

area that is capable of adsorbing or conjugating with a wide variety of therapeutic and 

diagnostic agents (drugs, genes, vaccines, antibodies, biosensors, etc.). 

Then other applications of CNTs have been extensively performed not only for drug and 

gene therapies but also for tissue regeneration, biosensor diagnosis, enantiomer separation 

of chiral drugs, extraction and analysis of drugs and pollutants. 

During recent years carbon nanotubes (CNTs) have been attracted by many researchers as a 

drug delivery carrier. 

Multiple types of microbes including bacteria and fungi have the ability to degrade carbon 

nanotubes (CNTs), graphene (GRA), and their derivatives.  

 
REFERENCE: 
 
https://technology.nasa.gov/patent/TOP2-104 
 
https://www.scielo.br/pdf/bjps/v49n4/v49n4a02.pdf 
 
https://www.ncbi.nlm.nih.gov/pmc/articles/PMC3806157/ 

 

https://technology.nasa.gov/patent/TOP2-104
https://www.scielo.br/pdf/bjps/v49n4/v49n4a02.pdf
https://www.ncbi.nlm.nih.gov/pmc/articles/PMC3806157/
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Q.2) Consider the following activities:  

1. Spraying pesticides on a crop field  

2. Inspecting the craters of active volcanoes  

3. Collecting breath samples from spouting whales for DNA analysis  

At the present level of technology, which of the above activities can be successfully 

carried out by using drones?  

a) 1 and 2 only 

b) 2 and 3 only 

c) 1 and 3 only 

d) 1, 2 and 3  

 
Solution (d) 

EXPLANATION: 
 
All the statements are correct.  

Drones have become a critical tool for professionals working in a large variety of different 

sectors such as public safety, search and rescue, infrastructure inspection, surveying and 

mapping, agriculture, wildlife conservation and many more. 

The agriculture sprayer drones protect farmers from poisoning and heat stroke, while 

spraying liquid pesticides, fertilizers and herbicides on agricultural land. 

Scientists recently conducted a study using drones to make aerial images of a volcano in 

Guatemala. 

 

 
REFERENCE: 
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Statement 1- https://www.thehindu.com/news/cities/Hyderabad/now-farmers-use-
drones-to-spray-pesticide/article30342501.ece 
 
Statement 2- https://www.commercialdroneprofessional.com/case-study-monitoring-
active-volcanoes-with-the-help-of-drones/ 
 
Statement 3- https://www.cnet.com/news/drone-flies-through-whales-spouts-to-sample-
their-breath/ 
 

 
Q.3) The experiment will employ a trio of spacecraft flying in formation in the shape of an 

equilateral triangle that has sides one million kilometres long, with lasers shining between 

the craft." The experiment in question refers to  

a) Voyager-2  

b) New Horizons  

c) LISA Pathfinder  

d) Evolved LISA  

Solution (d) 

EXPLANATION: 
 
e-LISA is a plan of setting into space three spacecraft, a mother and two daughter 

spacecraft, which will fly in a triangular formation, trailing the earth in its orbit around the 

sun at a distance of over 50 million km. 

 
REFERENCE: 
 

https://www.thehindu.com/news/cities/Hyderabad/now-farmers-use-drones-to-spray-pesticide/article30342501.ece
https://www.thehindu.com/news/cities/Hyderabad/now-farmers-use-drones-to-spray-pesticide/article30342501.ece
https://www.commercialdroneprofessional.com/case-study-monitoring-active-volcanoes-with-the-help-of-drones/
https://www.commercialdroneprofessional.com/case-study-monitoring-active-volcanoes-with-the-help-of-drones/
https://www.cnet.com/news/drone-flies-through-whales-spouts-to-sample-their-breath/
https://www.cnet.com/news/drone-flies-through-whales-spouts-to-sample-their-breath/
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Q.4) Consider the following statements:  

1. Genetic changes can be introduced in the cells that produce eggs or sperms of a 

prospective parent.  

2. A person's genome can be edited before birth at the early embryonic stage.  

3. Human induced pluripotent stem cells can be injected into the embryo of a pig.  

Which of the statements given above is/are correct?  

a) 1 only 

b) 2 and 3 only  

c) 2 only 

d) 1, 2 and 3 

Solution (d) 

EXPLANATION: 
1. Genetic changes can be introduced in the cells that produce eggs or sperms of a 

prospective parent. This is how various genetically modified organisms are born. 
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2. Using this technique various genetic diseases of the off-springs can be cured, i.e. by 
editing their DNA. 

3. Induced pluripotency is one where a mature cell can be modified into a nascent cell, 
which has the capability to reproduce any tissue.Injecting such human cells into 
embryo of the pig; we can cultivate a human like kidney, heart, etc through this 
embryo, as it grows. 

 
REFERENCE: 
 
Babapedia: 

 
 

 
Q.5) What is the importance of using Pneumococcal Conjugate Vaccines in India?  

1. These vaccines are effective against pneumonia as well as meningitis and sepsis.  

2. Dependence on antibiotics that are not effective against drug-resistant bacteria can 

be reduced.  

3. These vaccines have no side effects and cause no allergic reactions.  

Select the correct answer using the code given below:  

a) 1 only  

b) 1 and 2 only  

c) 3 only  

d) 1, 2 and 3  

Solution (b) 

EXPLANATION: 
1. Streptococcus Pneumonia is the disease; and pneumonia, sepsis and meningitis are 

the symptoms, hence it is correct. 
2. As the vaccine prevents the very occurrence of the infection, the usage of anti-

biotics that are drug resistant can be reduced. 
3. The statement is medically vague, as all most all the vaccines do have one or the 

other side effect. 
Hence, PCV Pneumococcal Conjugate Vaccines has fever, loss of appetite, fussiness and 
other side effects. 
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REFERENCE: 
https://nhm.gov.in/New_Updates_2018/NHM_Components/Immunization/Guildelines_f
or_immunization/Operational_Guidelines_for_PCV_introduction.pdf-Page 5 
 

 
Q.6) In India, the term "Public Key Infrastructure" is used in the context of 

a) Digital security infrastructure  

b) Food security infrastructure  

c) Health care and education infrastructure  

d) Telecommunication and transportation infrastructure  

Solution (a) 

EXPLANATION: 
Public Key Infrastructure (PKI) is a technology for authenticating users and devices in the 
digital world. The basic idea is to have one or more trusted parties digitally sign documents 
certifying that a particular cryptographic key belongs to a particular user or device.  
 
In our PEP Science Handout, we had covered ‘Public Key Cryptography’ in relation to Digital 
Signature. This can easily help out in arriving at the correct answer.  

 
 
REFERENCE: 
https://en.wikipedia.org/wiki/Public_key_infrastructure 

 
Q.7) Which of the following statements are correct regarding the general difference 

between plant and animal cells?  

1. Plant cells have cellulose cell walls whilst animal cells do not.  

2. Plant cells do not have plasma membrane unlike animal cells which do.  

3. Mature plant cell has one large vacuole whilst animal cell has many small vacuoles.  

Select the correct answer using the code given below:  

a) 1 and 2 only  

b) 2 and 3 only  

https://nhm.gov.in/New_Updates_2018/NHM_Components/Immunization/Guildelines_for_immunization/Operational_Guidelines_for_PCV_introduction.pdf
https://nhm.gov.in/New_Updates_2018/NHM_Components/Immunization/Guildelines_for_immunization/Operational_Guidelines_for_PCV_introduction.pdf
https://en.wikipedia.org/wiki/Public_key_infrastructure
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c) 1 and 3 only  

d) 1, 2 and 3  

Solution (c) 

EXPLANATION: 
1. Only plant cells have the cellulosic cell walls. 
2. All cells do have plasma membrane. 
3. Plants cells are primarily identified with the presence of large vacuole at the centre 

of the cell. 
 
REFERENCE: ILP Science Value Add Notes 

 

https://microbenotes.com/plant-cell-vs-animal-cell/ 

 
Q.8) Which of the following are the reasons/factors for exposure to benzene pollution?  

1. Automobile exhaust  

2. Tobacco smoke  

3. Wood burning  

4. Using varnished wooden furniture  

5. Using products made of polyurethane  

Select the correct answer using the code given below:  

https://microbenotes.com/plant-cell-vs-animal-cell/
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a) 1, 2 and 3 only  

b) 2 and 4 only 

c) 1, 3 and 4 only  

d) 1, 2, 3, 4 and 5  

 

Solution (d) 

EXPLANATION: 
 
Benzene is formed from both natural processes and human activities. 

 

Natural sources of benzene include volcanoes and forest fires. Benzene is also a natural part 

of crude oil, gasoline, and cigarette smoke. 

 

Benzene is one of the primary compounds of the Carbon Chain- (Organic Chemistry) 

 

All the options given are reasons for exposure to benzene pollution. Hence all are correct. 

 
REFERENCE: 

https://www.who.int/ipcs/features/benzene.pdf 

 
Q.9) If another global financial crisis happens in the near future, which of the following 

actions/policies are most likely to give some immunity to India?  

1. Not depending on short-term foreign borrowings  

2. Opening up to more foreign banks  

3. Maintaining full capital account convertibility 

Select the correct answer using the code given below: 

a) 1 only  

b) 1 and 2 only 

c) 3 only 

d) 1, 2 and 3 

Solution (a) 

EXPLANATION: 
Depending on short-term foreign borrowings, Opening up more foreign banks and 

maintaining full capital account convertibility will lead to more economic interdependency 

with the global economy. So, any global financial crisis will impact India. 
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Q.10) If you withdraw 1,00,000 in cash from your Demand Deposit Account at your bank, 

the immediate effect on aggregate money supply in the economy will be  

a) to reduce it by ₹ 1,00,000 

b) to increase it by ₹ 1,00,000  

c) to increase it by more than ₹ 1,00,000 

d) to leave it unchanged  

Solution (d) 

EXPLANATION: 
 
If a person withdraws 1,00,000 in cash from his/her Demand Deposit Account at your bank 

Aggregate money supply in the economy will be unchanged  

 

M3 consists of cash held by public and Demand Deposit. The money that has been 

withdrawn from Demand Deposit is just added to cash (both are components of M3), so 

aggregate money supply will not have any immediate effect. 

 

 
Q.11 With reference to the cultural history of India, which one of the following is the 

correct description of the term ‘paramitas’? 

a) The earliest Dharmashastra texts written in aphoristic (sutra) style. 

b) Philosophical schools that did not accept the authority of Vedas. 

c) Perfections whose attainment led to the Bodhisattva path 

d) Powerful merchant guilds of early medieval south India. 

Solution (c) 

REFERENCE: 

ILP Value Add Notes-Ancient India 

 



UPSC CSE PRELIMS-KEY & EXPLANATION 2020 2020 
 

IASBABA 10 

 

 
Q.12) In the context of Indian history, the Rakhmabai case of 1884 revolved around: 

1. women’s right to gain education 

2. age of consent 

3. restitution of conjugal rights 

Select the correct answer using the code given below: 

a) 1 and 2 only 

b) 2 and 3 only 

c) 1 and 3 only 

d) 1,2 and 3 

Solution (b) 

EXPLANATION: 
 
In 1885, after 12 years of marriage, Dadaji Bhikaji (married Rakhmabi) sought “restitution of 
conjugal rights”.  
 
Rukhmabai also made her mark in history due to the legal case she was involved in, which 
contributed to the enactment of the Age of Consent Act, 1891. 
 
Hence statement 2 and 3 are correct. 

 
Q.13) Indigo cultivation in India declined by the beginning of the 20th century because of 

a) Peasant resistance to the oppressive conduct of planters 

b) Its unprofitability in the world market because of new inventions 

c) National leaders’ opposition to the cultivation of indigo 

d) Government control over the planters 

 

Solution (b) 

EXPLANATION: 
This is a straight forward question. The main reason behind decline in Indigo cultivation in 

India is its unprofitability in the world market because of new inventions (like synthetic 

indigo) 

 
Q.14) Wellesley established the Fort William College at Calcutta because 

a) He was asked by the Board of Directors at London to do so 

b) He wanted to revive interest in oriental learning in India 

c) He wanted to provide William Carey and his associates employment 

d) He wanted to train British civilians for administrative purposes in India 
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Solution (d) 

 
REFERENCE: Modern History ILP Value Add Notes 
 

 
 

 
Q.15) With reference to the history of India, “Ulgulan” or the Great Tumult is the 

description of which of the following events? 

a) The Revolt of 1857 

b) The Mappila rebellion of 1921 

c) The Indigo revolt of 1859 - 60 

d) Birsa Munda’s revolt of 1899-1900 

Solution (d) 

REFERENCE: 

ILP Value Add Notes-Ancient India 



UPSC CSE PRELIMS-KEY & EXPLANATION 2020 2020 
 

IASBABA 12 

 

 

 
Q.16) With reference to the scholars/litterateurs of ancient India, consider the following 

statements: 

1. Panini is associated with Pushyamitra Shunga 

2. Amarasimha is associated with Harshavardhana 

3. Kalidasa is associated with Chandra Gupta-II 

Which of the statements given above is/are correct? 

a) 1 and 2 only 

b) 2 and 3 only 

c) 3 only 

d) 1,2 and 3 

Solution (c) 

EXPLANATION: 
 
Panini and Pushyamitra Shunga are born and lived in different Centuries. Same is the case 
with Amarasimha and Harshavardhana. Hence Statement 1 and 2 are incorrect. 
 
Kalidasa was a Court Poet of Chandra Gupta-II. Hence Statement 3 is correct. 
 
REFERENCE:ILP Value Add Notes 
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Q.17) In the context of recent advances in human reproductive technology, ‘Pronuclear 

Transfer” is used for 

a) Fertilization of egg in vitro by the donor sperm 

b) Genetic modification of sperm producing cells 

c) Development of stem cells into functional embryos 

d) Prevention of mitochondrial diseases in offspring 

Solution (d) 

REFERENCE: Prelims Exclusive Programme (PEP)-Handout: Value Add Notes  
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Q.18) With the present state of development, Artificial Intelligence can effectively do 

which of the following? 

1. Bring down electricity consumption in industrial units 

2. Create meaningful short stories and songs 

3. Disease diagnosis 

4. Text-to-speech conversion 

5. Wireless transmission of electrical energy 
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Select the correct answer using the code given below: 

a) 1,2,3 and 5 only 

b) 1,3, and 4 only 

c) 2,4,and 5 only 

d) 1,2,3,4 and 5 

Solution (d) or (b) 

EXPLANATION: 
Artificial Intelligence has wide varieties of applications in various fields. Statement 1,3 and 4 

are applications of AI and are already in use from long time. 

 

However, there is a slight confusion regarding Statements 2 and 5.  

REFERENCE: 
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Q.19) With reference to visible light communication (VLC) technology, which of the 

following statements are correct? 

1. VLC uses electromagnetic spectrum wavelengths 375 to 780nm 

2. VLC is known as long-range optical wireless communication 

3. VLC can transmit large amounts of data faster than Bluetooth 

4. VLC has no electromagnetic interference 

Select the correct answer using the code given below 

a) 1, 2 and 3 only 

b) 1, 2 and 4 only 

c) 1, 3 and 4 only 

d) 2, 3 and 4 only 

Solution (c) 

EXPLANATION: 
Due to the propagation distance of the light emitting diodes (LEDs), VLC is a short-range 

communication technology. Hence Statement 2 is incorrect. Once statement 2 is eliminated 

answer is option c. 

REFERENCE: 

https://www.researchgate.net/publication/279321580_Visible_Light_Communications_V

LC_Technology/link/59f1ec08a6fdcc1dc7bb08bb/download 

 
Q.20) With reference to “Blockchain Technology” consider the following statements: 

1. It is a public ledger that everyone can inspect, but which no single user controls. 

2. The structure and design of blockchain is such that all the data in it are about 

cryptocurrency only. 

3. Applications that depend on basic features of blockchain can be developed without 

anybody’s permission. 

Which of the statements given above is/are correct? 

a) 1 only 

b) 1 and 2 only 

c) 2 only 

d) 1 and 3 only 

Solution (d) 

EXPLANATION: 
 
1. It can be seen by everyone, but cannot be manipulated by anyone – i.e. no single 
authority. 
 

https://www.researchgate.net/publication/279321580_Visible_Light_Communications_VLC_Technology/link/59f1ec08a6fdcc1dc7bb08bb/download
https://www.researchgate.net/publication/279321580_Visible_Light_Communications_VLC_Technology/link/59f1ec08a6fdcc1dc7bb08bb/download
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2. As it is well known, Block chain technology has varied applications. 
 
3. It is as simple as opening a Facebook account. 
 
REFERENCE: 

https://iasbaba.com/2020/03/daily-current-affairs-ias-upsc-prelims-and-mains-exam-7th-

march-2020/#Cryptocurrencies,_Blockchain_and_Regulations 

 

Q.21) A parliamentary system of government is one in which? 

a) All political parties in the parliament are represented in the government 

b) The government is responsible to the parliament and can be removed by it. 

c) The government is elected by the people and can be removed by them 

d) The government is chosen by the parliament but cannot be removed by it before 

completion of a fixed term 

Solution (b) 

EXPLANATION: 
 
REFERENCE: 

Daily Current Affairs (https://iasbaba.com/2020/09/question-hour-and-democracy/)  

 

 

Source: http://constitutionnet.org/sites/default/files/2017-10/government-formation-and-
removal-mechanisms-primer.pdf   --- Page 12 

 

https://iasbaba.com/2020/03/daily-current-affairs-ias-upsc-prelims-and-mains-exam-7th-march-2020/#Cryptocurrencies,_Blockchain_and_Regulations
https://iasbaba.com/2020/03/daily-current-affairs-ias-upsc-prelims-and-mains-exam-7th-march-2020/#Cryptocurrencies,_Blockchain_and_Regulations
https://iasbaba.com/2020/09/question-hour-and-democracy/
http://constitutionnet.org/sites/default/files/2017-10/government-formation-and-removal-mechanisms-primer.pdf
http://constitutionnet.org/sites/default/files/2017-10/government-formation-and-removal-mechanisms-primer.pdf
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Q.22) Which part of the Constitution of India declares the ideal of Welfare state? 

a) Directive principles of state policy 

b) Fundamental rights 

c) Preamble 

d) Seventh schedule 

Solution (a) 

EXPLANATION: 
Directive Principles of State Policy aim to create social and economic conditions under which 

the citizens can lead a good life. They also aim to establish social and economic democracy 

through a welfare state 

 
REFERENCE:ILP20 Polity VAN 

 

 

Q.23) Consider the following statements: 

1. The Constitution of India defines its ‘basic structure’ in terms of federalism, 
secularism, fundamental rights and democracy. 

2. The Constitution of India provides for ‘judicial review’ to safeguard the ‘citizens’ 
liberties and to preserve the ideals on which the constitution is based. 
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Which of the statements given above is/are correct? 

a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2 

Solution (b) 

EXPLANATION: 

Statement 1 is incorrect: Basic Structure doctrine evolved in Kesavanada Bharti case of 1973 

and the Constitution doesn’t define it. 

Statement 2 is correct: Under Article 13 of the Indian Constitution, the compulsion of 

judicial review has been described. The Union or the States shall not make any law that 

takes away or abridges any of the fundamental rights, and any law made in contravention of 

the aforementioned mandate shall, to the extent of the contravention, be void 

REFERENCE:ILP20 Polity VAN 

 

 

TLP: (https://iasbaba.com/2020/06/day-5-q-2-the-basic-structure-doctrine-has-gone-a-long-
way-in-ensuring-that-the-state-doesnt-circumvent-the-implicit-foundational-principles-
enshrined-of-the-constitution/)  

https://iasbaba.com/2020/06/day-5-q-2-the-basic-structure-doctrine-has-gone-a-long-way-in-ensuring-that-the-state-doesnt-circumvent-the-implicit-foundational-principles-enshrined-of-the-constitution/
https://iasbaba.com/2020/06/day-5-q-2-the-basic-structure-doctrine-has-gone-a-long-way-in-ensuring-that-the-state-doesnt-circumvent-the-implicit-foundational-principles-enshrined-of-the-constitution/
https://iasbaba.com/2020/06/day-5-q-2-the-basic-structure-doctrine-has-gone-a-long-way-in-ensuring-that-the-state-doesnt-circumvent-the-implicit-foundational-principles-enshrined-of-the-constitution/
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Q.24)One common agreement between Gandhism and Marxism is? 

a) The final goal of a stateless society 

b) Class struggle 

c) Abolition of private property 

d) Economic determinism 

Solution (a) 

EXPLANATION: 

Both Gandhi and Marx were anarchists opposed to political authority of the state over the 

individual. Both of them, therefore, conceived of an idea - a stateless society free from 

exploitation of any kind. Gandhi's ideal of Ramrajya in a society, where each individual living 

in it, is a Satyagrahi, following the dictates of truth, and governed by his own moral will. 

 

REFERENCE: 

More details can be found in 

https://shodhganga.inflibnet.ac.in/bitstream/10603/69833/12/12_chapter%207.pdf 

 

Q.25)In the context of India, which one of the following is the characteristic appropriate 

for bureaucracy? 

a) An agency widening the scope of parliamentary democracy 

b) An agency for strengthening the structure of federalism 

c) An agency for facilitating political stability and economic growth 

d) An agency for the implementation of public policy 

Solution (d) 

EXPLANATION: 

Public policy formulation and policy implementation are two distinct but closely interrelated 

functions of the government. Public policy is laid down by the legislature or the political 

https://shodhganga.inflibnet.ac.in/bitstream/10603/69833/12/12_chapter%207.pdf
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authorities, who are vested with the power of giving policy the requisite legal authority i.e. 

legitimacy. The policy implementation aspect is supposed to be in the domain of the 

executive, i.e., the bureaucracy or the administrative arm of the government 

(http://www.igntu.ac.in/eContent/IGNTU-eContent-345860477706-MA-PoliticalScience-4-

Dr.GeorgeT.Haokip-Paper401PublicPolicyandDevelopmentinIndia-Unit3.pdf) 

REFERENCE: 

TLP Synopsis:https://tlp.iasbaba.com/2019/01/day-45-q-4-in-an-age-of-rapid-technological-

advancements-the-role-of-bureaucracy-must-be-reinvented-comment/ 

 

 

Q.26)The Preamble to the Constitution of India is 

a) A part of the Constitution but has no legal effect 

b) Not a part of the Constitution and has no legal effect either 

c) A part of the Constitution and has the same legal effect as any other part 

d) A part of the Constitution but has no legal effect independently of other parts 

Solution (d) 

EXPLANATION: 

In Beruberi’s case the Supreme Court held that the Preamble was not a part of the 

Constitution and therefore it could never be regarded as a source of any substantive 

powers. 

But in Kesavananda Bharati’s case, the Supreme Court rejected the above view and held 

that  

1. The Preamble is the part of the Constitution. 

2. The Preamble is not a source of power nor a source of limitations or prohibitions; 

3. Preamble has a significant role to play in the interpretation of statutes, also in the 

interpretation of provisions of the Constitution. 

 

 

http://www.igntu.ac.in/eContent/IGNTU-eContent-345860477706-MA-PoliticalScience-4-Dr.GeorgeT.Haokip-Paper401PublicPolicyandDevelopmentinIndia-Unit3.pdf)
http://www.igntu.ac.in/eContent/IGNTU-eContent-345860477706-MA-PoliticalScience-4-Dr.GeorgeT.Haokip-Paper401PublicPolicyandDevelopmentinIndia-Unit3.pdf)
https://tlp.iasbaba.com/2019/01/day-45-q-4-in-an-age-of-rapid-technological-advancements-the-role-of-bureaucracy-must-be-reinvented-comment/
https://tlp.iasbaba.com/2019/01/day-45-q-4-in-an-age-of-rapid-technological-advancements-the-role-of-bureaucracy-must-be-reinvented-comment/
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Q.27)“Gold Tranche” (Reserve Tranche) refers to 

a) A loan system of the World bank 
b) One of the operations of a central bank 
c) A credit system granted by WTO to its members 
d) A credit system granted by IMF to its members 

Solution (d) 

EXPLANATION: 

A reserve tranche is a portion of the required quota of currency each member country must 

provide to the International Monetary Fund (IMF) that can be utilized for its own 

purposes—without a service fee or economic reform conditions 

REFERENCE:ILP VAN-Economy 
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Q.28) With reference to the provisions contained in partIV of the constitution of India, 

which of the following statements is/are correct? 

1. They shall be enforceable by courts 

2. They shall not be enforceable by any court 

3. The principles laid down in this part are to influence the making of laws by the state 

Select the correct answer using the code given below 

a) 1 only 

b) 2 only 

c) 1 and 3 only 

d) 2 and 3 only 

Solution (d) 

EXPLANATION: 

DPSP are guidelines/principles given to the central and state governments of India, to be 

kept in mind while framing laws and policies. These principles were deemed fundamental in 

the governance of the country since it epitomized the hopes and aspirations of the Indian 

people and hence they influence the law making of state. 

REFERENCE:ILP2020 Polity VAN 
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Q.29)Consider the following statements: 

1. According to the Constitution of India, a person who is eligible to vote can be made a 
minister in a state for six months even if he/she isnot a member of that state. 

2. According to the Representation of People Act,1951, a person convicted of a criminal 
offence and sentenced to imprisonment for five years is permanently disqualified 
from contesting an election even after his release from prison. 

Which of the statements given above is/are correct? 

a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1nor 2 

Solution (a) or (d) 

EXPLANATION: 
 
Statement 2 is incorrect: A person convicted of any offence and sentenced to imprisonment 

for not less than two years shall be disqualified from the date of such conviction and shall 

continue to be disqualified for a further period of six years since his release (not 

permanently disqualified) 

Regarding Statement-1 there is some confusion. So, as of now we are posting the answer 

as a or d for now. 

REFERENCE: 60-day Prelims Initiative 

 

 

Q.30)Consider the following statements: 

1. The president of India can summon a session of Parliament at such place as he/she 

thinks fit. 

2. The Constitution of India provides for three sessions of the Parliament in a year, but 

it is not mandatory to conduct all three sessions 

3. There is no minimum number of days that the Parliament is required to meet in a 

year. 
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Which of the statements given above is/are correct? 

a) 1 only 

b) 2 only 

c) 1 and 3 only 

d) 2 and 3 only 

Solution (c) 

EXPLANATION: 

Statement 1 is correct: Article 85(1) of the Constitution empowers the President to 

summon each House of Parliament to meet at such time and place as he thinks fit, but six 

months shall not intervene between its last sitting in one Session and the date appointed for 

its first sitting in the next Session 

Statement 2 is incorrect: Constitution does not provide for three sessions of the Parliament. 

It is by convention; Parliament meets for three sessions in a year   

Statement 3 is correct: There is no minimum number of days that the Parliament is required 

to meet in a year -in fact, the number of days that Parliament meets has reduced over the 

years. During the first two decades of Parliament, Lok Sabha met for an average of a little 

more than 120 days a year. This has come down to approximately 70 days in the last 

decade.  

REFERENCE:Daily Current Affairs Quiz 
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Q.31)Consider the following statements: 

1. Aadhaar metadata cannot be stored for more than three months. 
2. State cannot enter into any contract with private corporations for sharing of Aadhar 

data 
3. Aadhaar is mandatory for obtaining insurance products. 
4. Aadhaar is mandatory for getting benefits funded out of the Consolidated fund of 

India. 

Which of the statements give above is/are correct? 

a) 1 and 4 only 
b) 2 and 4 only 
c) 3 only 
d) 1,2 and 3 only 

Solution (b) 

EXPLANATION: 

Statement 1 is incorrect: The Supreme Court read down Section 2(d) of the Aadhaar Act to 

refrain government authorities to store metadata of transactions. Accordingly, Aadhaar 

metadata cannot be stored for more than six months. The Aadhaar Act had a provision to 

store allowed storage of such data for a period of five years. 

Statement 3 is incorrect: Aadhaar not mandatory to buy insurance policy but can be used 

for KYC if given voluntarily. This n the backdrop of a Supreme Court judgment of September, 
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2018, that held as unconstitutional making Aadhaar and PAN/Form 60 mandatory for 

availing financial services, including insurance. 

 https://www.thehindu.com/news/cities/Hyderabad/aadhaar-not-mandatory-to-buy-

insurance-policy/article26123273.ece 

Statement 4 is correct: The Supreme Court cleared mandatory Aadhaar enrolment of 

recipients of government welfare benefits. It, however, defined welfare schemes as only 

those funded directly from the “consolidated fund of India”, the main corpus of all revenues 

received by the government. https://www.hindustantimes.com/india-news/aadhaar-for-

welfare-schemes-a-legitimate-exercise-says-supreme-court/story-

rhb0kccKthpJRNnSvukzmO.html 

 

Q.32)Rajyasabha has equal powers with Loksabha in  

a) The matter of creating new all India services 

b) Amending the Constitution 

c) The removal of the government 

d) Making cut motions 

Solution (b) 

EXPLANATION: 

Statement (a): Rajya Sabha enjoys special powers in the matter of creating new All India 

Services. If Rajya Sabha passes a resolution by a majority of not less than two-thirds of the 

members present and voting declaring that it is necessary or expedient in the national 

interest to create one or more All India Services common to the union and the states, 

parliament becomes empowered to create by law such services. 

Statement (b): Rajya Sabha enjoys equal powers with Lok Sabha in matters like the 

impeachment of the President, removal of the vice-president, constitutional amendments, 

and removal of the judges of the Supreme Court and the High Courts. 

Statement (c): Rajya Sabha has unequal powers with regard to removal of government. The 

Council of Ministers is responsible only to Lok Sabha and not responsible to the Rajya Sabha. 

Therefore, a no-confidence motion cannot be introduced in the Rajya Sabha.  

Statement (d): Rajya Sabha doesn’t have power to make cut motions, it can only make 

suggestions 

 
 
REFERENCE: 

https://www.thehindu.com/news/cities/Hyderabad/aadhaar-not-mandatory-to-buy-insurance-policy/article26123273.ece
https://www.thehindu.com/news/cities/Hyderabad/aadhaar-not-mandatory-to-buy-insurance-policy/article26123273.ece
https://www.hindustantimes.com/india-news/aadhaar-for-welfare-schemes-a-legitimate-exercise-says-supreme-court/story-rhb0kccKthpJRNnSvukzmO.html
https://www.hindustantimes.com/india-news/aadhaar-for-welfare-schemes-a-legitimate-exercise-says-supreme-court/story-rhb0kccKthpJRNnSvukzmO.html
https://www.hindustantimes.com/india-news/aadhaar-for-welfare-schemes-a-legitimate-exercise-says-supreme-court/story-rhb0kccKthpJRNnSvukzmO.html
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Source:  Daily Prelims Test and covered in ILP Polity VAN 

https://iasbaba.com/wp-content/uploads/2015/06/Polity_day3_compressed.pdf 

 

 

Q.33) With reference to the funds under Members of Parliament Local Area Development 
Scheme(MPLADS), which of the following statements are correct? 

1. MPLADS funds must be used to create durable assets like physical infrastructure for 
health, education etc., 

2. A specified portion of each MP’s fund must benefit SC/ST populations 
3. MPLADS funds are sanctioned on yearly basis and the unused funds cannot be 

carried forward to the next year. 
4. The district authority must inspect at least 10% of all works under implementation 

every year 

Select the correct answer using the code given below: 

a) 1 and 2 only 
b) 3 and 4 only 
c) 1,2 and 3 only 
d) 1,2 and 4 only 

Solution (d) 

EXPLANATION: 
Statement 3 is incorrect: An important aspect of the MPLAD Scheme is that funds released 

under this scheme are non-lapsable i.e. if the money is not utilised, it gets carried to the 

next year. 

REFERENCE: 

 

 

Babapedia  

https://iasbaba.com/wp-content/uploads/2015/06/Polity_day3_compressed.pdf
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https://babapedia2021.iasbaba.com/2020/04/07/7th-april-members-of-parliament-local-
area-development-scheme-mplads/ 

TLP Connect - TEST 30 

 

 

Q.34)Which one of the following categories of Fundamental Rights incorporates 
protection against untouchability as a form of discrimination? 

a) Right against Exploitation 
b) Right to freedom 
c) Right to constitutional remedies 
d) Right to equality 

 Solution (d) 

EXPLANATION: 

Articles 14 to 18 deals with Equality and Article 17 deals with Prohibition of Untouchability 

REFERENCE:ILP/AIPTS - TEST 1 

 

https://babapedia2021.iasbaba.com/2020/04/07/7th-april-members-of-parliament-local-area-development-scheme-mplads/
https://babapedia2021.iasbaba.com/2020/04/07/7th-april-members-of-parliament-local-area-development-scheme-mplads/
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Q.35)In India, separation of judiciary from the executive is enjoined by 

a) The Preamble of the Constitution 
b) A Directive Principle of state policy 
c) The Seventh schedule 
d) The conventional practice 

Solution (b) 

EXPLANATION: 

Article 50 which comes under Part IV of Indian Constitution (Directive Principles of State 

Policy) clearly mentions about separation of judiciary from the executive 

REFERENCE:ILP Value Add Notes- Polity 

 

 

Source: https://www.mea.gov.in/Images/pdf1/Part4.pdf 

 

 

Q.36) Along with the Budget, the Finance Minister also places other documents before the 
Parliament which include ‘The Macro Economic Framework Statement’. The aforesaid 
document is presented because this is mandated by 

a) Long convention standing parliamentary 
b) Article 112 and Article 110(1) of the Constitution of India 
c) Article 113 of the Constitution of India 
d) Provisions of the Fiscal Responsibility and Budget Management Act, 2003 

Solution (d) 

EXPLANATION: 
The Macro-Economic Framework Statement, presented to Parliament as per the Fiscal 

Responsibility and Budget Management Act, 2003.The Framework Statement contains 

https://www.mea.gov.in/Images/pdf1/Part4.pdf
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assessment regarding the GDP growth rate, fiscal balance of the Central Government and 

the external sector balance of the economy. 

REFERENCE:

 

 

Q.37) A constitutional government by definition is a 

a) government by legislature 
b) popular government 
c) Multi party government 
d) Limited government 

Solution (d) 

EXPLANATION: 

Constitutional government is defined by the existence of a constitution—which may be a 

legal instrument or merely a set of fixed norms or principles generally accepted as the 

fundamental law of the polity—that effectively controls (limits) the exercise of political 

power. The essence of constitutionalism is the control of power by its distribution among 

several state organs or offices in such a way that they are each subjected to reciprocal 

controls and forced to cooperate in formulating the will of the state. 

REFERENCE: 

ILP 2020 VAN 
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Q.38)Other than the Fundamental Rights, which of the following parts of the Constitution 
of India reflect/reflects the principles and provisions of the Universal Declaration of 
Human Rights (1948)?  
 

1. Preamble 
2. Directive Principles of State Policy 
3. Fundamental Duties 

Select the correct answer using the code given below: 

a) 1 and 2 only 
b) 2 only 
c) 1 and 3 only 
d) 1, 2 and 3 

Solution (d) 

EXPLANATION: 

Preamble and DPSP obviously reflect the equality principle of UDHR. 

Additionally, Fundamental Duties also reflect the UDHR principles 
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REFERENCE: 

https://www.escr-net.org/sites/default/files/Directive_Principles_India_0.pdf 

Q.39)In India, Legal Services Authorities provide free legal services to which of the 
following type of citizens? 

1. Person with an annual income of less than Rs. 1,00,000 
2. Transgender with an annual income of less than Rs. 2,00,000 
3. Member of Other Backward Classes (OBC) with an annual income of less than Rs. 

3,00,000 
4. All Senior Citizens 

Select the correct answer using the code given below: 

a) 1 and 2 only 
b) 3 and 4 only 
c) 2 and 3 only 
d) 1 and 4 only 

Solution (a) 

EXPLANATION: 
 

EXPLANATION: 

Source: https://nalsa.gov.in/faqs 

Statement 3 is wrong: The Legal Services Authority does not mention about Other 
Backward Classes (OBC) while providing free legal services. It provides free services to 
Scheduled Castes or Scheduled Tribe , Women and Children.  

Statement 4 is wrong: The provision of free legal services to Senior Citizens is dependent 
on the rules framed by the respective state governments who can prescribe income limits. 
Therefore, not all senior citizens are eligible for free legal services. 

https://www.escr-net.org/sites/default/files/Directive_Principles_India_0.pdf
https://nalsa.gov.in/faqs
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Since both statement 3 and 4 are wrong, by the method of elimination, we can arrive at 
option A 

 

Q.40) Consider the following pairs: 

Internationalagreement/set-up   Subject 

1. Alma-Ata Declaration   Healthcare of the people 
2. Hague Convention  Biological and chemical weapons 
3. Talanoa Dialogue  Global climate change 
4. Under2 Coalition  Child rights 

Which of the pairs given above is/ are correctly matched? 

a) 1 and 2 only 
b) 4 only 
c) 1 and 3 only 
d) 2, 3 and 4 only 

Solution (c) 

EXPLANATION: 

Hague Convention deals with Civil Aspects of International Child Abduction that provides an 

expeditious method to return a child internationally abducted by a parent from one 

member country to another 

Under2 Coalition is a coalition of subnational governments that aims to achieve greenhouse 

gases emissions mitigation 

REFERENCE:Babapedia 

 

 

Alma-Ata Declaration: Daily Current Affairs-https://iasbaba.com/2019/01/daily-current-
affairs-ias-upsc-prelims-and-mains-exam-3rd-january-2019/ 
 
Hague Convention: Daily Current Affairs-https://iasbaba.com/2020/03/hindu-adoption/ 
 

https://iasbaba.com/2019/01/daily-current-affairs-ias-upsc-prelims-and-mains-exam-3rd-january-2019/
https://iasbaba.com/2019/01/daily-current-affairs-ias-upsc-prelims-and-mains-exam-3rd-january-2019/
https://iasbaba.com/2020/03/hindu-adoption/
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Q.41) With reference to the history of India, consider the following pairs: 
 

1. Aurang      In-charge of treasury of the State 
2. Banian      Indian agent of the East India Company 
3. Mirasidar     Designated revenue payer to the State

      
Which of the pairs given above is/are correctly matched? 

a) 1 and 2 only 
b) 2 and 3 only 
c) 3 only 
d) 1, 2 and 3 

Solution (b) 

EXPLANATION: 
Statement 1 - Aurang is a Persian term for a warehouse - a place where goods are collected 

before being sold. The word also refers to a workshop for finished goods.  

Statement 2 - The banian acted as an agent for individual EIC managers, and performed a 

range of functions including, bookkeeping, interpreting, and brokerage, as well as managing 

his household and personal business activities.  
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Statement 3 - Thalkari or Mirasdar paid land revenue, but were not officials and formed a 

large part of the village community, and were hereditary owners of the land. Mirasdar is an 

Arabic word (Miras=Inherit) for Thalkari.  

REFERENCE: 

https://ncert.nic.in/ncerts/l/hess201.pdf 

https://pureadmin.qub.ac.uk/ws/portalfiles/portal/187285404/ALDOUS_BANIANS_FINAL.p

df 

 
Q.42) With reference to the religious history of India, consider the following statements: 
 

1. Sthaviravadins belong to Mahayana Buddhism. 
2. Lokottaravadin sect was an offshoot of Mahasanghika sect of Buddhism. 
3. The deification of Buddha by Mahasanghikas fostered the Mahayana Buddhism. 

Which of the statements given above are correct? 

a) 1 and 2 only 
b) 2 and 3 only 
c) 3 only 
d) 1, 2 and 3 

Solution (b) 

EXPLANATION: 
Statement 1is incorrect - Sthaviravadins is associated with Theravada. It is an early school of 

Buddhism.  

Statement 2 is correct - The Mahāsaṅghikas believed in a plurality of buddhas who are 

supramundane (lokottara) and held that what passed for Gautama Buddha in his earthly 

existence was only an apparition. The school was first located in the area of Vaiśālī and 

spread also to southern India, with centres at Amarāvatī and Nāgārjunakoṇḍa. Its texts were 

written in Prākrit. It further divided into several subsects, of which the best known was the 

Lokottaravāda (so called because of its views on lokottara).  

Statement 3 is correct - Mahāsaṅghika, (from Sanskrit mahāsaṅgha, “great order of 

monks”), early Buddhist school in India that, in its views of the nature of the Buddha, was a 

precursor of the Mahāyāna tradition. (https://www.britannica.com/topic/Mahasanghika) 

REFERENCE: Also covered in Current Affairs Sessions and ILP VAN 

https://www.britannica.com/topic/Theravada 

https://www.britannica.com/topic/Mahasanghika 

 

https://ncert.nic.in/ncerts/l/hess201.pdf
https://pureadmin.qub.ac.uk/ws/portalfiles/portal/187285404/ALDOUS_BANIANS_FINAL.pdf
https://pureadmin.qub.ac.uk/ws/portalfiles/portal/187285404/ALDOUS_BANIANS_FINAL.pdf
https://www.britannica.com/topic/Mahasanghika
https://www.britannica.com/topic/Theravada
https://www.britannica.com/topic/Mahasanghika
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Q.43) Which of the following statements correctly explain the impact of Industrial 
Revolution on India during the first half of the nineteenth century? 

a) Indian handicrafts were ruined. 
b) Machines were introduced in the Indian textile industry in large number. 
c) Railway lines were laid in many parts of the country. 
d) Heavy duties were imposed on the imports of British manufactures. 

Solution (a) 

EXPLANATION: 
Cheap and machine-made imports flooded Indian Market and Indian products found it 

difficult to penetrate the Indian market. This Industrial revolution ruined the Indian 

Handicrafts.  

REFERENCE: 

https://ncert.nic.in/textbook/pdf/hess206.pdf 

 

 

https://ncert.nic.in/textbook/pdf/hess206.pdf
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Q.44) Consider the following events in the history of India: 
 

1. Rise of Pratiharas under King Bhoja 
2. Establishment of Pallava power under Mahendravarman - I 
3. Establishment of Chola Parantaka – I 
4. Pala dynasty founded by Gopala 

What is the correct chronological order of the above events, starting from the earliest 
time? 

a) 2-1-4-3 
b) 3-1-4-2 
c) 2 -4-1-3 
d) 3-4-1-2 

Solution (c) 

EXPLANATION: 

• Rise of Pratiharas under King Bhoja – 830s 

• Establishment of Pallava power under Mahendravarman – I – 600s 

• Establishment of Chola Parantaka – I – 910s 

• Pala dynasty founded by Gopala – 750s 

 
REFERENCE: 

• Note- Covered in ILP Value Add Notes  

 
Q.45) Which of the following phrases defines the nature of the 'Hundi' generally referred 
to in the sources of the post-Harsha period? 

a) An advisory issued by the king to his subordinates 
b) A diary to be maintained for daily accounts 
c) A bill of exchange 
d) An order from the feudal lord to his subordinates 

Solution (c) 

EXPLANATION: 
Hundis are an informal mode of instrument or bill of exchange; thus it has no place in the 

legal system and the Negotiable Instruments Act does not regulate or cover them. They are 

a bill of exchange and were used in a manner in which cheques are used today in common 

parlance.  

REFERENCE: 

https://www.rbi.org.in/scripts/ms_hundies.aspx 

https://www.rbi.org.in/scripts/ms_hundies.aspx
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Q.46)With reference to the book "Desher Katha" written by Sakharam Ganesh Deuskar 
during the freedom struggle, consider the following statements: 
 

1. It warned against the Colonial State hypnotic conquest of the mind. 
2. It inspired the performance of swadeshi street plays and folk songs. 
3. The use of 'desh' by Deuskar was in the specific context of the region of Bengal. 

Which of the statements given above are correct? 

a) 1 and 2 only 
b) 2 and 3 only 
c) 1 and 3 only 
d) 1, 2 and 3 

Solution (a) or (d) 

EXPLANATION: 
Sakharam Ganesh Deuskar (1869-1912) a close associate of Sri Aurobindo.  A Marathi 

Brahmin who had settled in Bengal, Sakharam was born in Deoghar. He studied in the 

Deoghar School and later became a teacher there. He was Barin's teacher of History. "One 

of the ablest men in these revolutionary groups," Sri Aurobindo reminds us, "[he] was an 

able writer in Bengali (his family had been long domiciled in Bengal).... He published a book 

entitled Desher Katha describing in exhaustive detail the British commercial and industrial 

exploitation of India. This book had an immense repercussion in Bengal, captured the mind 

of young Bengal and assisted more than anything else in the preparation of the Swadeshi 

movement." Published first in June 1904, Desher Katha sold ten thousand copies in four 

editions within the year. The fifth edition came out in 1905. The government of Bengal 

banned the book in 1910 and confiscated all the copies. Deuskar was the first to bring in the 

name of Swaraj, and Sri Aurobindo was the first to endow it with its English equivalent, 

'Independence.' The Nationalists adopted this word, and Swaraj became the chief item of 

the fourfold Nationalist programme. 

The colonial state proscribed the text in 1910, but by then it had sold over 15,000 copies, 

informed swadeshi street plays and folk songs, and had assumed the status of mandatory 

reading for an entire generation of swadeshi activists.  

There is a slight confusion with Statement 3. 

REFERENCE: 

https://motherandsriaurobindo.in/_StaticContent/SriAurobindoAshram/-

03%20The%20Ashram/Inspiring%20Connections/Sakharam%20Ganesh%20Deuskar.htm 

https://www.jstor.org/stable/179304?seq=1 

 

Q.47)The Gandhi-Irwin Pact included which of the following? 

https://motherandsriaurobindo.in/_StaticContent/SriAurobindoAshram/-03%20The%20Ashram/Inspiring%20Connections/Sakharam%20Ganesh%20Deuskar.htm
https://motherandsriaurobindo.in/_StaticContent/SriAurobindoAshram/-03%20The%20Ashram/Inspiring%20Connections/Sakharam%20Ganesh%20Deuskar.htm
https://www.jstor.org/stable/179304?seq=1
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1. Invitation to Congress to participate in the Round Table Conference 
2. Withdrawal of Ordinances promulgated in connection with the Civil Disobedience 

Movement 
3. Acceptance of Gandhi's suggestion for enquiry into police excesses 
4. Release of only those prisoners who were not charged with violence 

Select the correct answer using the code given below 

a) 1 only 
b) 1, 2 and 4 only 
c) 3 only 
d) 2, 3 and 4 only 

Solution (b) 

EXPLANATION: 
Proposed conditions: 

• Discontinuation of Salt March by the Indian National Congress 

• Participation by the Indian National Congress in the Second Round Table Conference 

• Withdrawal of all ordinances issued by the Government of India imposing curbs on 

the activities of the Indian National Congress 

• Withdrawal of all prosecutions relating to several types of offenses except those 

involving violence 

• Release of prisoners arrested for participating in the Salt March. 

• Removal of the tax on salt, which allowed the Indians to produce, trade, and sell salt 

legally and for their own private use 

Agreements 

• Withdraw all ordinances and end prosecutions 

• Release all political prisoners, except those guilty of violence 

• Permit peaceful picketing of liquor and foreign cloth shops 

• Restore confiscated properties of the satyagrahis 

• Permit free collection or manufacture of salt by persons near the sea-coast 

• Lift the ban over the Congress. 

 
REFERENCE: 

ILP 2020 Modern India VAN 
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Q.48)The Vital-Vidhvansak, the first monthly journal to have the untouchable people as its 
target audience was published by 

a) Gopal Baba Walangkar 
b) Jyotiba Phule 
c) Mohandas Karamchand Gandhi 
d) Bhimrao Ramji Ambedkar 

Solution (a) 

EXPLANATION: 
Gopal Baba Walangkar began publishing the monthly journal titled Vital-Vidhvansak 

(Destroyer of Brahmanical or Ceremonial Pollution), which was the first to have the 

untouchable people as its target audience. 

He also wrote articles for Marathi-language newspapers such as Sudharak and Deenbandhu, 

as well as composing couplets in Marathi that were intended to inspire the people.  

 
REFERENCE: 

https://en.wikipedia.org/wiki/Gopal_Baba_Walangkar 

 
Q.49)With reference to the history of India, the terms "kulyavapa" and "dronavapa" 
denote 

a) measurement of land 
b) coins of different monetary value 
c) classification of urban land 

https://en.wikipedia.org/wiki/Gopal_Baba_Walangkar
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d) religious rituals 

Solution (a) 

EXPLANATION: 
The words kulyavapa, dronavapa and adhavapa indicate the area of land that was required 

to sow seed grains of the weight respectively of one kulya, drona and adhaka.  

REFERENCE: 

http://magazines.odisha.gov.in/Journal/jounalvol1/pdf/orhj-12.pdf 

 

Q.50) Who among the following rulers advised his subjects through this inscription? 

"Whosoever praises his religious sect or blames other sects out of excessive devotion to his 
own sect, with the view of glorifying his own sect, he rather injures his own sect very 
severely." 

a) Ashoka 
b) Samudragupta 
c) Harshavardhana 
d) Krishna Deva Raya 

Solution (a) 

EXPLANATION: 

Using common sense, this question can be answered. In whole of Ancient History that you 

must have read, inscriptions related to ASHOKA should have dominated your coverage.  

Through Dhamma, Ashoka wanted to establish a peaceful and coherent society in which 

every sect should respect and honour the other sect.  

If you knew this Dhamma of Ashoka, can easily guess the answer.  

 

http://magazines.odisha.gov.in/Journal/jounalvol1/pdf/orhj-12.pdf
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REFERENCE: 
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Q.51)What are the advantages of fertigation in agriculture? 

1. Controlling the alkalinity of irrigation water is possible. 
2. Efficient application of Rock Phosphate and all other phosphatic fertilizers is 

possible. 
3. Increased availability of nutrients to plants is possible. 
4. Reduction in the leaching of chemical nutrients is possible. 

Select the correct answer using the code given below: 

a) 1, 2 and 3 only 
b) 1, 2 and 4 only 
c) 1, 3 and 4 only 
d) 2, 3 and 4 only 

Solution (c) 

EXPLANATION: 

 
Once Statement 2 is eliminated, only option c is left. 

REFERENCE: 
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http://ecoursesonline.iasri.res.in/mod/page/view.php?id=8973 

 
Q.52) Consider the following minerals: 

1. Bentonite 
2. Chromite 
3. Kyanite 
4. Sillimanite 

In India, which of the above is/are officially designated as major minerals? 

a) 1 and 2 only 
b) 4 only 
c) 1 and 3 only 
d) 2, 3 and 4 only 

Solution (d) 

EXPLANATION: 
Bentonite is a minor mineral. 

REFERENCE: 

http://www.mospi.gov.in/sites/default/files/reports_and_publication/statistical_manual

/Chapter%2012.pdf 

 
Q.53)With reference to Ocean Mean Temperature (OMT), which of the following 
statements is/are correct? 

1. OMT is measured up to a depth of 26°C isotherm which is 129 meters in the south-
western Indian Ocean during January – March. 

2. OMT collected during January March can be used in assessing whether the amount 
of rainfall in monsoon will be less or more than a certain long-term mean 

Select the correct answer using the code given below 

a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2 

Solution (b) 

EXPLANATION: 
OMT, which is measured up to a depth of 26 degree C isotherm, is more stable and 

consistent, and the spatial spread is also less. The 26 degree C isotherm is seen at depths 

varying from 50–100 metres. During January–March, the mean 26 degree C isotherm depth 

in the Southwestern Indian Ocean is 59 metres. 

http://ecoursesonline.iasri.res.in/mod/page/view.php?id=8973
http://www.mospi.gov.in/sites/default/files/reports_and_publication/statistical_manual/Chapter%2012.pdf
http://www.mospi.gov.in/sites/default/files/reports_and_publication/statistical_manual/Chapter%2012.pdf
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Scientists from Pune’s Indian Institute of Tropical Meteorology (IITM) find that ocean mean 

temperature (OMT) that has better ability to predict this than the sea surface temperature. 

Compared with SST which has 60% success rate of predicting the Indian summer monsoon, 

OMT has 80% success rate. 

REFERENCE: 

https://www.thehindu.com/sci-tech/science/ocean-mean-temperature-can-better-predict-

indian-summer-monsoon/article24842963.ece 

 

Q.54) With reference to chemical fertilizers in India, consider the following statements: 
1. At present, the retail price of chemical fertilizers is market-driven and not 

administered by the Government. 
2. Ammonia, which is an input of urea, is produced from natural gas. 
3. Sulphur, which is a raw material for phosphoric acid fertilizer is by-product of oil 

refineries. a 

Which of the statements given above is/are correct? 

a) 1 only 
b) 2 and 3 only 
c) 2 only 
d) 1, 2 und 3 

Solution (b) 

EXPLANATION: 
Statement 1is incorrect- The prices of fertilizers are administered through MRP, subsidies 

by the government. It is not market driven in India. 

Statement 2 is correct- Natural gas is the primary raw material used to produce ammonia. 

Urea is made from ammonia and carbon dioxide. The ammonia and carbon dioxide are. fed 

into the reactor at high pressure and temperature, and the urea is formed in a two step. 

Statement 3 is correct - Sulfur is a by-product of processing natural gas and refining high-

sulfur crude oils. Some fertilizers, such as two-component fertilizers Monoammonium 

Phosphate (MAP) and Diammonium Phosphate (DAP), offer farmers an effective means of 

delivering both nitrogen and phosphorus to soils.  Sulfuric acid is used as a key first step in 

the production of both MAP and DAP, after which it is mixed with phosphate rock to 

produce phosphoric acid. 

REFERENCE: 

https://cleantechnologies.dupont.com/industries/phosphate-fertilizer/ 

https://nzic.org.nz/app/uploads/2017/10/1A.pdf 

 

https://www.thehindu.com/sci-tech/science/ocean-mean-temperature-can-better-predict-indian-summer-monsoon/article24842963.ece
https://www.thehindu.com/sci-tech/science/ocean-mean-temperature-can-better-predict-indian-summer-monsoon/article24842963.ece
https://cleantechnologies.dupont.com/industries/phosphate-fertilizer/
https://nzic.org.nz/app/uploads/2017/10/1A.pdf
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Q.55) With reference to India's Desert National Park, which of the following statements 
are correct? 

1. It is spread over two districts. 
2. There is no human habitation inside the Park. 
3. It is one of the natural habitats of the Great Indian Bustard. 

Select the correct answer using the code given below; 

a) 1 and 2 only 
b) 2 und 3 only 
c) 1 and 3 only 
d) 1, 2 and 3 

Solution (c) 

EXPLANATION: 
Desert National Park, Rajasthan, is situated in the Indian state of Rajasthan near the towns 

of Jaisalmer and Barmer. 

The endangered great Indian bustard is a magnificent bird found in relatively fair numbers. 

People and animals can co-exist in the Buffer Zone of the National Park so Statement 2 is 

wrong. 

REFERENCE: Also covered in Current Affairs Sessions 

PEP Environment - Session 3 

 

DNA 

https://iasbaba.com/2019/01/daily-current-affairs-ias-upsc-prelims-and-mains-exam-19th-

january-2019/#Animal_in_news_Great_Indian_Bustard 

https://iasbaba.com/2020/01/great-indian-bustard/ 

https://iasbaba.com/2019/01/daily-current-affairs-ias-upsc-prelims-and-mains-exam-19th-january-2019/#Animal_in_news_Great_Indian_Bustard
https://iasbaba.com/2019/01/daily-current-affairs-ias-upsc-prelims-and-mains-exam-19th-january-2019/#Animal_in_news_Great_Indian_Bustard
https://iasbaba.com/2020/01/great-indian-bustard/
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Q.56)Siachen Glacier is situated to the 

a) East of Aksai Chin 
b) East of Leh 
c) North of Gilgit 
d) North of Nubra Valley 

Solution (d) 

EXPLANATION: 

 
REFERENCE: 

Babapedia 

 

Daily Current Affairs Quiz 

 

https://iasbaba.com/2020/09/upsc-quiz-2020-iasbabas-daily-current-affairs-quiz-day-93/ 
 

 
 
Q.57)With reference to the history of India, consider the following pairs: 
 
Famous Place   Present State 

1. Bhilsa    Madhya Pradesh 
2. Dwarasamudra  Maharashtra 
3. Girinagar   Gujarat 
4. Shaneshwara   Uttar Pradesh 

https://iasbaba.com/2020/09/upsc-quiz-2020-iasbabas-daily-current-affairs-quiz-day-93/


UPSC CSE PRELIMS-KEY & EXPLANATION 2020 2020 
 

IASBABA 50 

 

Which of the pairs given above are correctly matched? 

a) 1 and 3 only 
b) 1 and 4 only 
c) 2 and 3 only 
d) 2 and 4 only 

Solution (a) 

EXPLANATION: 
Bhilsa- Madhya Pradesh 

Dwarasamudra – Karnataka 

Girinagar– Gujarat 

Shaneshwara– Haryana 

 
REFERENCE: 

ILP 2020 Ancient and Medieval India VAN 
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Q.58)Consider the following statements: 

1. 36% of India's districts are classified as "overexploited” or “critical” by the Central 
Ground Water Authority (CGWA). 

2. CGWA was formed under Environment (Protection) Act. 
3. India has the largest area under groundwater irrigation in the world. 

Which of the statements given above is/are correct? 

a) 1 only 
b) 2 and 3 only 
c) 2 only 
d) 1 and 3 only 

Solution (b) 

EXPLANATION: 
Statement 2 is correct - Central Ground Water Authority (CGWA) has been constituted 

under Section 3 (3) of the Environment (Protection) Act, 1986 to regulate and control 

development and management of ground water resources in the country. 

Statement 3 is correct - India has the world's largest groundwater well equipped irrigation 

system. 

 
REFERENCE: 

PEP - Environment Handout 

 

Babapedia 
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Q.59) Consider the following statements: 
1. Jet streams occur in the Northern Hemisphere only. 
2. Only some cyclones develop an eye. 
3. The temperature inside the eye of a cyclone is nearly 10 C lesser than that of the 

surroundings. 

Which of the statements given above is/are correct? 

a) 1 only 
b) 2 and 3 only 
c) 2 only 
d) 1 and 3 only 

Solution (c) 

EXPLANATION: 
Statement 1 is incorrect - Jet Streams flow in both the hemispheres. 

Statement 2 is correct - The eye is a region of mostly calm weather at the center of strong 

tropical cyclones. It is not associated with temperate cyclones. 

Statement 3 is incorrect - Eye is an area of low pressure and high temperature. 

REFERENCE: 
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Q.60)Among the following Tiger Reserves, which one has the largest area under "Critical 
Tiger Habitat"? 

a) Corbett 
b) Ranthambore 
c) Nagarjunsagar-Srisailam 
d) Sunderbans 

Solution (c) 

EXPLANATION: 
Nagarjunsagar-Srisailam has the largest Core Area - https://ntca.gov.in/about-us/#tiger-

reserves-2 

REFERENCE: 

Babapedia 

https://ntca.gov.in/about-us/#tiger-reserves-2
https://ntca.gov.in/about-us/#tiger-reserves-2
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https://babapedia2021.iasbaba.com/2020/08/22/22-august-nagarjunsagar-srisailam-tiger-

reserve/ 

https://iasbaba.com/2020/07/protected-area-in-news-nagarjunasagar-srisailam-tiger-

reserve-nstr/ 

 

Q.61) If a particular plant species is placed under Schedule VI of The Wildlife Protection 
Act, 1972, what is the implication? 

a) A licence is required to cultivate that plant. 
b) Such a plant cannot be cultivated under any circumstances. 
c) It is a Genetically Modified crop plant. 
d) Such a plant is invasive and harmful to the ecosystem. 

Solution (a) 

EXPLANATION: 
 
Plant Species placed under Schedule VI of The Wildlife Protection Act, 1972 are prohibited 
to be cultivated, but they can be cultivated after acquiring a valid licence. 
http://legislative.gov.in/sites/default/files/A1972-53_0.pdf 
 
REFERENCE: 

PEP Environment Handout 

 

 
Q.62)With reference to the period of Gupta dynasty in ancient India, the towns 
Ghantasala, Kadura and Chaul were well known as 

a) ports handling foreign trade 
b) capital of powerful kingdoms 
c) places of exquisite stone art and architecture 
d) important Buddhist pilgrimage centres 

https://babapedia2021.iasbaba.com/2020/08/22/22-august-nagarjunsagar-srisailam-tiger-reserve/
https://babapedia2021.iasbaba.com/2020/08/22/22-august-nagarjunsagar-srisailam-tiger-reserve/
https://iasbaba.com/2020/07/protected-area-in-news-nagarjunasagar-srisailam-tiger-reserve-nstr/
https://iasbaba.com/2020/07/protected-area-in-news-nagarjunasagar-srisailam-tiger-reserve-nstr/
http://legislative.gov.in/sites/default/files/A1972-53_0.pdf
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Solution (a) 

EXPLANATION: 
 

 
 

Q.63) What is/are the advantage/advantages of zero tillage in agriculture? 
1. Sowing of wheat is possible without burning the residue of previous crop. 
2. Without the need for nursery of rice saplings, direct planting of paddy seeds in the 

wet soil is possible. 
3. Carbon sequestration in the soil is possible. 

Select the correct answer using the code given below: 

a) 1 and 2 only 
b) 2 and 3 only 
c) 3 only 
d) 1, 2 and 3 

Solution (d) 

EXPLANATION: 

1. Reduction in the crop duration and thereby early cropping can be obtained to get 
higher yields. 

2. Reduction in the cost of inputs for land preparation and therefore a saving of around 
80%. 

3. Residual moisture can be effectively utilized and number of irrigations can be 
reduced. 

4. Dry matter and organic matter get added to the soil. 
5. Environmentally safe - Greenhouse effect will get reduced due to carbon 

sequestration. 
6. No tillage reduces the compaction of the soil and reduces the water loss by runoff 

and prevent soil erosion. 
7. As the soil is intact and no disturbance is done, No Till lands have more useful flora 

and fauna. 

REFERENCE: 
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https://vikaspedia.in/agriculture/best-practices/sustainable-agriculture/crop-

management/201czero-tillage201d-zero-worries 

 

 

 

https://vikaspedia.in/agriculture/best-practices/sustainable-agriculture/crop-management/201czero-tillage201d-zero-worries
https://vikaspedia.in/agriculture/best-practices/sustainable-agriculture/crop-management/201czero-tillage201d-zero-worries
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Q.64) According to India’s National Policy on Biofuels, which of the following can be used 
as raw materials for the production of biofuels? 

1. Cassava 
2. Damaged wheat grains 
3. Groundnut seeds 
4. Horse gram 
5. Rotten potatoes 
6. Sugar beet 

Select the correct answer using the code given below: 

a) 1,2,5 and 6 only 
b) 1,3,4 and 6 only 
c) 2,3,4 and 5 only 
d) 1,2,3,4,5 and 6 

Solution (a) 

 
REFERENCE: 

PEP Environment Handout 

 

Babapedia - https://babapedia2021.iasbaba.com/2018/07/26/26th-july-2018-national-
policy-on-biofuels-2018/ 

 

Q.65) Which one of the following statements best describes the term ‘Social Cost of 
Carbon’? It is a measure, in monetary value, of the 

a) long-term damage done by a tonne of COշ emissions in a given year. 
b) requirement of fossil fuels for a country to provide goods and services to its citizens, 

based on the burning of those fuels. 
c) efforts put in by a climate refugee to adapt to live in a new place. 
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d) contribution of an individual person to the carbon footprint on the planet Earth. 

Solution (a) 

EXPLANATION: 
Social Cost of Carbon’ measures long-term damage done by a tonne of COշ emissions in a 
given year in terms of monetary value. 
 
REFERENCE: 

https://www.carbonbrief.org/qa-social-cost-carbon 

 

Q.66) With reference to pulse production in India, consider the following sentences: 
1. Black gram can be cultivated as both Kharif and rabi crop. 
2. Green-gram alone accounts for nearly half of pulse production. 
3. In the last three decades, while the production of kharif pulses has increased, the 

production of rabi pulses has decreased. 

Which of the statement given above is/are correct? 

a) 1 only 
b) 2 and 3 only 
c) 2 only 
d) 1,2 and 3 

Solution (a) 

EXPLANATION: 
Statement 2 is incorrect: Green-gram alone accounts for nearly 8% of pulse production. 
Statement 3 is incorrect. In the last three decades, the production of Kharif Pulses and Rabi 
Pulses do not give us any specific trend. 
REFERENCE: 

https://farmer.gov.in/SucessReport2018-19.pdf 

 

Q.67) “The crop is subtropical in nature. A hard frost is injurious to it. It requires at least 
210 frost-free days and 50 to 100 centimeters of rainfall for its growth. A light well-
drained soil capable of retaining moisture is ideally suited for the cultivation of the crop.” 
Which one of the following is the crop? 

a) Cotton 
b) Jute 
c) Sugarcane 
d) Tea 

Solution (a) 

https://www.carbonbrief.org/qa-social-cost-carbon
https://farmer.gov.in/SucessReport2018-19.pdf
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EXPLANATION: 
Cotton is a plant that needs a long frost-free period, a lot of heat and plenty of sunshine. It 
prefers warm and humid climate. 
 
It requires 50-100 centimeters of rainfall for its growth. 
 
A light well-drained soil capable of retaining moisture is ideally suited for the cultivation of 
the cotton. 

 
 

Q.68)With reference to solar water pumps, consider the following statements: 
1. Solar power can be used for running surface pumps and not for submersible pumps, 
2. Solar power can be used for running centrifugal pumps and not the ones with piston. 

Which of the statements given above is/are correct? 

a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2 

Solution (d) 

EXPLANATION: 
Solar power can be used for running surface pumps and submersible pumps, 
Solar power can be used for running centrifugal pumps and the ones with piston. 

REFERENCE: 
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https://www.indiawaterportal.org/articles/frequently-asked-questions-faqs-solar-water-

pumps#:~:text=There%20are%20several%20different%20types,alternate%20current%20(

AC)%20pumps. 

 

 

 

Q.69) With reference to the current trends in the cultivation of sugarcane in India, 
consider the following statements: 

1. A substantial saving in seed material is when ‘bud chip settlings’ are raised in a 
nursery and transplanted in the main field. 

2. When direct planting of setts is done, the germination percentage is better with 
single-budded setts as compared to setts with many buds. 

3. If bad weather conditions prevail when setts are directly planted, single-budded 
setts have better survival as compared to large setts. 

4. Sugarcane can be cultivated using settlings prepared from tissue culture. 

Which of the statements given above is/are correct? 

a) 1 and 2 only 
b) 3 only 
c) 1 and 4 
d) 2, 3 and 4 only 

Solution (c) 

EXPLANATION: 
Statement 2 is incorrect: When direct planting of setts is done, the germination percentage 
is better with setts with many buds as compared to single-budded setts. 
 
Statement 3 is incorrect: If bad weather conditions prevail when setts are directly planted, 
large setts have better survival as compared to single-budded setts. 
 
REFERENCE: 

https://www.researchgate.net/publication/322976767_SUGARCANE_PLANTING_TECHNI

QUES_A_REVIEW 

 

Q.70) In the context of India, which of the following is/are considered to be practice(s) of 
eco-friendly agriculture? 

1. Crop diversification 
2. Legume intensification 
3. Tensiometer use 
4. Vertical farming 

https://www.indiawaterportal.org/articles/frequently-asked-questions-faqs-solar-water-pumps#:~:text=There%20are%20several%20different%20types,alternate%20current%20(AC)%20pumps
https://www.indiawaterportal.org/articles/frequently-asked-questions-faqs-solar-water-pumps#:~:text=There%20are%20several%20different%20types,alternate%20current%20(AC)%20pumps
https://www.indiawaterportal.org/articles/frequently-asked-questions-faqs-solar-water-pumps#:~:text=There%20are%20several%20different%20types,alternate%20current%20(AC)%20pumps
https://www.researchgate.net/publication/322976767_SUGARCANE_PLANTING_TECHNIQUES_A_REVIEW
https://www.researchgate.net/publication/322976767_SUGARCANE_PLANTING_TECHNIQUES_A_REVIEW
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Select the correct answer using the code given below: 

a) 1,2 and 3 only 
b) 3 only 
c) 4 only 
d) 1,2,3 and 4 

Solution (d) 

EXPLANATION: 
All the practices given above are eco-friendly. 
Irrigation water productivity can be increased using Tensiometer. 

 

Q.71) In India, which of the following can be considered as public investment in 
agriculture? 

1. Fixing Minimum Support Price for agriculture produce of all crops 
2. Computerization of Primary Agriculture Credit Societies 
3. Social Capital development 
4. Free electricity supply of farmers 
5. Waiver of agriculture loans by the banking system 
6. Setting up of cold storage facilities by the governments 

Select the correct answer using the code given below: 

a) 1, 2 and 5 only 
b) 1,3, 4 and 5 only 
c) 2, 3 and 6 only 
d) 1, 2, 3,4, 5 and 6 

Solution (c) 

EXPLANATION: 
Fixing Minimum Support Price for agriculture produce of all crops, Free electricity supply of 
farmers, Waiver of agriculture loans by the banking system do not qualify to be public 
investment, rather they come under the category of subsidies. 
 
REFERENCE: 

https://www.researchgate.net/publication/320647132_Public_Investment_in_Agriculture

_and_Growth_An_Analysis_of_Relationship_in_the_Indian_Context/link/5b894171a6fdcc

5f8b738c68/download 

http://www.iesd.org.in/jesd/Journal%20pdf/2016-XII-2%20Impact%20of%20public.pdf 

 

Q.72) What is the importance of the term “Interest Coverage Ratio” of a firm in India? 

https://www.researchgate.net/publication/320647132_Public_Investment_in_Agriculture_and_Growth_An_Analysis_of_Relationship_in_the_Indian_Context/link/5b894171a6fdcc5f8b738c68/download
https://www.researchgate.net/publication/320647132_Public_Investment_in_Agriculture_and_Growth_An_Analysis_of_Relationship_in_the_Indian_Context/link/5b894171a6fdcc5f8b738c68/download
https://www.researchgate.net/publication/320647132_Public_Investment_in_Agriculture_and_Growth_An_Analysis_of_Relationship_in_the_Indian_Context/link/5b894171a6fdcc5f8b738c68/download
http://www.iesd.org.in/jesd/Journal%20pdf/2016-XII-2%20Impact%20of%20public.pdf
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1. It helps in understanding the present risk of a firm that a bank is going to give a loan 
to. 

2. It helps in evaluating the emerging risk of a firm that a bank is going to give a loan to. 
3. The higher a borrowing firm’s level of Interest Coverage Ratio, the worse is its ability 

to service its debt. 

Select the correct answer using the code given below: 

a) 1 and 2 only 
b) 2 only 
c) 1 and 3 only 
d) 1, 2 and 3 

Solution (a) 

EXPLANATION: 

The higher a borrowing firm’s level of Interest Coverage Ratio, the better is its ability to 
service its debt. 

Hence Statement 3 is incorrect.  
 
REFERENCE: 

https://www.investopedia.com/terms/i/interestcoverageratio.asp 

 
Q.73)Which of the following factors/policies were affecting the price of rice in India in the 
recent past? 

1. Minimum Support Price 
2. Government’s trading 
3. Government’s stockpiling 
4. Consumer subsidies 

Select the correct answer using the code given below: 

a) 1,2 and 4 only 
b) 1,3 and 4 only 
c) 2 and 3 only 
d) 1,2, 3 and 4 

Solution (d) 

EXPLANATION: 
All the above mentioned factors affect the price of Rice in India. 
 
The government typically buys more than a third of the country's rice output at a fixed price, 
which also has a direct impact on prices paid by traders. This in turn increases the overall 
price of rice. 

https://www.investopedia.com/terms/i/interestcoverageratio.asp
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Q.74)Consider the following statements: 

1. The value of Indo-Sri Lanka trade has consistently increased in the last decade. 
2. “Textile and textile articles” constitute an important item of the trade between India 

and Bangladesh. 
3. In the last five years, Nepal has been the largest trading partner of India in South 

Asia. 

Which of the statements given above is/are correct? 

a) 1 and 2 only 
b) 2 only 
c) 3 only 
d) 1,2 and 3 

Solution (b) 

EXPLANATION: 
 
The value of Indo-Sri Lanka trade has no consistent trend in the last decade. 
Hence Statement 1 is incorrect 
There are significant value chain linkages between India and Bangladesh, particularly in the 
textile and apparel sector. India specializes in the upstream segment, supplying such 
intermediate inputs as silk, cotton, yarn, and fabrics to Bangladesh. Bangladesh specializes 
in the downstream final apparel segment, exporting worldwide as well as to India. 
Hence Statement 2 is correct. 
 
Bangladesh is India’s biggest trade partner in South Asia.  
Hence Statement 3 is incorrect. 

 

Q.75) In which one of the following groups are all the four countries members of G20? 

a) Argentina, Mexico, South Africa and Turkey 
b) Australia, Canada, Malaysia and New Zealand 
c) Brazil, Saudi Arabia and Vietnam 
d) Indonesia, Japan, Singapore and South Korea 

Solution (a) 

REFERENCE:Babapedia 
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https://iasbaba.com/2020/03/g20-virtual-
summit/#:~:text=The%20G20%20members%20are%20Argentina,the%20European%20Unio
n%20(EU). 

 

 

IASBABA – PRELIMS EXCLUSIVE PROGRAM 2020 ECONOMY HANDOUT 

 

Q.76) Under the Kisan Credit Card scheme, short-term credit support is given to farmers 
for which of the following purposes? 

1. Working capital for maintenance of farm assets 
2. Purchase of combine harvesters, tractors and mini trucks 
3. Consumption requirements of farm households 
4. Post-harvest expenses 
5. Construction of family house and setting up of village cold storage facility 

Select the correct answer using the code given below: 

a) 1, 2 and 5 only 
b) 1, 3 and 4 only 

https://iasbaba.com/2020/03/g20-virtual-summit/#:~:text=The%20G20%20members%20are%20Argentina,the%20European%20Union%20(EU)
https://iasbaba.com/2020/03/g20-virtual-summit/#:~:text=The%20G20%20members%20are%20Argentina,the%20European%20Union%20(EU)
https://iasbaba.com/2020/03/g20-virtual-summit/#:~:text=The%20G20%20members%20are%20Argentina,the%20European%20Union%20(EU)
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c) 2, 3, 4 and 5 only 
d) 1, 2, 3, 4 and 5 

Solution (b) 

EXPLANATION: 
This question can be easily solved by eliminating statement 5. Question is asking about 
short-term credit support, so it could not include Construction of family house and setting 
up of village cold storage facility 

REFERENCE: 

 

 

https://iasbaba.com/2020/09/press-information-bureau-pib-ias-upsc-24th-august-to-31st-
august-2020/ 

Q.77)Consider the following statements 
1. The weightage of food in Consumer Price Index (CPI) is higher than that in Wholesale 

Price Index (WPI). 
2. The WTI does not capture changes in, the prices of services, which CPI does. 
3. Reserve Bank of India has now adopted WPI as its key measure of inflation and to 

decide on changing the key policy rates. 

Which of the statements given- above is/are correct? 

a) 1 and 2 only 
b) 2 only 
c) 3 only 
d) 1, 2 and 3 

Solution (a) 

EXPLANATION: 
The weightage of food in Consumer Price Index (CPI) (around 46%) is higher than that in 
Wholesale Price Index (WPI) (around 26%) 
 
Wholesale Price Index, or WPI, measures the changes in the prices of goods sold and traded 
in bulk by wholesale businesses to other businesses. WPI is unlike the Consumer Price Index 
(CPI), which tracks the prices of goods and services purchased by consumers. 
 
RBI adopted CPI as the key measure of Inflation. Hence Statement 3 is incorrect. 

https://iasbaba.com/2020/09/press-information-bureau-pib-ias-upsc-24th-august-to-31st-august-2020/
https://iasbaba.com/2020/09/press-information-bureau-pib-ias-upsc-24th-august-to-31st-august-2020/
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REFERENCE: Covered in Economy VAN also.  

https://m.rbi.org.in/Scripts/PublicationsView.aspx?id=17450 

https://iasbaba.com/2020/01/inflation/ 

 

 

 

 

 

Q.78) Consider the following pairs 

            River                Flows into 

1. Mekong   Andaman Sea 
2. Thames   Irish Sea 
3. Volga    Caspian Sea 
4. Zambezi   Indian Ocean 

Which of the pairs given above is/are correctly matched? 

a) 1 and 2 only 
b) 3 only 
c) 3 and 4 only 
d) 1, 2 and 4 only 

Solution (c) 

EXPLANATION: 

            River                Flows into 

1. Mekong   South China Sea 
2. Thames   North Sea 
3. Volga    Caspian Sea 
4. Zambezi   Indian Ocean 

 
REFERENCE: 

Babapedia 

https://m.rbi.org.in/Scripts/PublicationsView.aspx?id=17450
https://iasbaba.com/2020/01/inflation/
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Q.79)Consider the following statements 

1. In the case of all cereals, pulses and oil-seeds, the procurement at Minimum Support 
Price (MSP) is unlimited in any State/UT of India. 

2. In the case of cereals and pulses, the MSP is fixed in any State/UT at a level to which 
the market price will never rise. 

Which of the statements given above is/are correct? 

a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2 

Solution (d) 

EXPLANATION: 
Statement-1 and Statement-2 
The minimum support prices are announced by the Government of India at the beginning of 
the sowing season for certain crops on the basis of the recommendations of the 
Commission for Agricultural Costs and Prices (CACP). (Market prices keep varying) 
 
Government announces minimum support prices (MSPs) for 22 mandated crops and fair and 
remunerative price (FRP) for sugarcane. The mandated crops are 14 crops of the kharif 
season, 6 rabi crops and two other commercial crops. In addition, the MSPs of toria and de-
husked coconut are fixed on the basis of the MSPs of rapeseed/mustard and copra, 
respectively. The list of crops are as follows. 
 

• Cereals (7) - paddy, wheat, barley, jowar, bajra, maize and ragi 

• Pulses (5) - gram, arhar/tur, moong, urad and lentil 

• Oilseeds (8) - groundnut, rapeseed/mustard, toria, soyabean, sunflower seed, 
sesamum, safflower seed and nigerseed 

• Raw cotton 

• Raw jute 

• Copra 

• De-husked coconut 

• Sugarcane (Fair and remunerative price) 

• Virginia flu cured (VFC) tobacco 
 

REFERENCE: 
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https://vikaspedia.in/agriculture/market-information/minimum-support-price 

Q.80)With reference to the Indian economy, consider the following statements: 
1. 'Commercial Paper' is a short-term unsecured promissory note. 
2. 'Certificate of Deposit' is a long-term instrument issued by the Reserve Bank of India 

to a corporation. 
3. 'Call Money' is a short-term finance used for interbank transactions. 
4. 'Zero-Coupon Bonds' are the interest bearing short-term bonds issued by the 

Scheduled Commercial Banks to corporations. 

Which of the statements given above is/are correct? 

a) 1 and 2 only 
b) 4 only 
c) 1 and 3 only 
d) 2, 3 and 4 only 

Solution (c) 

EXPLANATION: 
A certificate of deposit (CD) is a product offered by banks and credit unions that provides an 
interest rate premium in exchange for the customer agreeing to leave a lump-sum deposit 
untouched for a predetermined period of time. 

Hence Statement 2 is incorrect 

A zero-coupon bond is a debt security that does not pay interest but instead trades at a 
deep discount, rendering a profit at maturity, when the bond is redeemed for its full face 
value. 
Hence Statement 4 is incorrect 

https://iasbaba.com/economics-strategy-2/ 

Also covered in Economy VAN 

 
Q.81)With reference to Foreign Direct Investment in India, which one of the following is 
considered its major characteristics? 

a) It is the investment through capital instruments essentially in a listed company. 
b) It is largely non-debt creating capital flow. 
c) It is the investment which involves debt-servicing. 
d) It is the investment made by foreign institutional investors in the Government 

securities. 

Solution (b) 

EXPLANATION: 

https://vikaspedia.in/agriculture/market-information/minimum-support-price
https://iasbaba.com/economics-strategy-2/
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Foreign direct investment or FDI is when a business receives investment from a foreign 
investor (individual or company). This foreign investor is based outside the country where 
the business is taking place. 
 
Foreign direct investments are characterized by a notion of ‘lasting interest’. Having a 
lasting interest in the business where the investment is being done is a significant 
characteristic of FDI. Foreign direct investments are guided by the notion of ‘controlling 
ownership’. 
REFERENCE: 

ILP Value Add Note- Economy 

 

 

Q.82) With reference to the international trade of India at present, which of the following 
statements is/are correct? 

1. India's merchandise exports are less than its merchandise imports. 
2. India's imports of iron and steel, chemicals, fertilisers and machinery have decreased 

in recent years. 
3. India's exports of services are more than its imports of services. 
4. India suffers from an overall trade/current account deficit. 

Select the correct answer using the code given below: 

a) 1 and 2 only 
b) 2 and 4 only 
c) 3 only 
d) 1, 3 and 4 only 

Solution (d) 
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EXPLANATION: 
India had a total export of 322,291,568.43 in thousands of US$ and total imports of 
617,945,603.08 in thousands of US$ leading to a negative trade balance of -295,654,034.65 
in thousands of US$ The Effectively Applied Tariff Weighted Average (customs duty) for 
India is 4.88% and the Most Favored Nation (MFN) Weighted Average tariff is 6%.The trade 
growth is 0.87% compared to a world growth of 3.50%. GDP of India is 2,718,732,231,300 in 
current US$. India services export is 204,955,578,850 in BoP, current US$ and services 
import is 124,181,614,510 in Bop, current US$.India exports of goods and services as 
percentage of GDP is 19.74% and imports of goods and services as percentage of GDP is 
23.64%. 
 
REFERENCE: 

https://wits.worldbank.org/CountryProfile/en/IND#:~:text=India%20All%20Products%20Exp

orts%20and%20Imports&text=India%20services%20export%20is%20204%2C955%2C578%2

C850,percentage%20of%20GDP%20is%2023.64%25. 

https://iasbaba.com/2020/05/issues-in-export-sector-during-covid19-all-india-radio-air-ias-

upsc/ 

 

Q.83)The term 'West Texas Intermediate', sometimes found in news, refers to a grade of 

a) Crude oil 
b) Bullion 
c) Rare earth elements 
d) Uranium 

Solution (a) 

EXPLANATION: 
West Texas Intermediate (WTI) crude oil is a specific grade of crude oil and one of the main 
three benchmarks in oil pricing, along with Brent and Dubai Crude. 
 
REFERENCE: 

https://www.investopedia.com/terms/w/wti.asp 

Babapedia: 

 

https://wits.worldbank.org/CountryProfile/en/IND#:~:text=India%20All%20Products%20Exports%20and%20Imports&text=India%20services%20export%20is%20204%2C955%2C578%2C850,percentage%20of%20GDP%20is%2023.64%25
https://wits.worldbank.org/CountryProfile/en/IND#:~:text=India%20All%20Products%20Exports%20and%20Imports&text=India%20services%20export%20is%20204%2C955%2C578%2C850,percentage%20of%20GDP%20is%2023.64%25
https://wits.worldbank.org/CountryProfile/en/IND#:~:text=India%20All%20Products%20Exports%20and%20Imports&text=India%20services%20export%20is%20204%2C955%2C578%2C850,percentage%20of%20GDP%20is%2023.64%25
https://iasbaba.com/2020/05/issues-in-export-sector-during-covid19-all-india-radio-air-ias-upsc/
https://iasbaba.com/2020/05/issues-in-export-sector-during-covid19-all-india-radio-air-ias-upsc/
https://www.investopedia.com/terms/w/wti.asp
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https://iasbaba.com/2020/05/thank-you-note-last-day-iasbabas-60-day-plan-day-60-ias-
prelims-test-series-2020-environment-current-affairs/ 

Test Series Question 

Q.29) The Indian basket of Crude Oil represents a derived basket comprising of?  

1. Oman & Dubai average 
2. Brent Crude 
3. West Texas Intermediate 

Select the correct code: 

a) 1 and 2 
b) 2 and 3 
c) 1 and 3 
d) All of the above 

Q.84)In the context of the Indian economy, non-financial debt includes which of the 
following? 

1. Housing loans owed by households 
2. Amounts outstanding on credit cards 
3. Treasury hills 

Select the correct answer using the code given below: 

a) 1 only 
b) 1 and 2 only 
c) 3 only 
d) 1, 2 and 3 

Solution (d) 

EXPLANATION: 
Non-financial debt consists of credit instruments issued by governmental entities, 
households and businesses that are not included in the financial sector. 
 
Debts are contractual obligations to repay monetary loans, often with related interest 
expense. Non-financial debt includes industrial or commercial loans, Treasury bills and 
credit card balances. They share most of the same characteristics with financial debt, except 
the issuers are non-financial. They have maturities ranging from one day to perpetuity, and 
can be used as loans to finance a company's growth. Companies can also use more 
sophisticated debt instruments for hedging purposes. 
 

 
Q.85)In India, why are some nuclear reactors kept under "IAEA Safeguards" while others 
are not? 

https://iasbaba.com/2020/05/thank-you-note-last-day-iasbabas-60-day-plan-day-60-ias-prelims-test-series-2020-environment-current-affairs/
https://iasbaba.com/2020/05/thank-you-note-last-day-iasbabas-60-day-plan-day-60-ias-prelims-test-series-2020-environment-current-affairs/
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a) Some use uranium and others use thorium 
b) Some use imported uranium and others use domestic supplies 
c) Some are operated by foreign enterprises and others are operated by domestic 

enterprises 
d) Some are State-owned and others are privately-owned 

Solution (b) 

EXPLANATION: 
India will decide on the number of new reactors to be placed under IAEA safeguards only 
after assessing if these will be fuelled by uranium procured from abroad.  
For those procured form abroad, will come under IAEA safeguards and those using domestic 
will be outside its preview. 
 
REFERENCE: 

https://economictimes.indiatimes.com/news/politics-and-nation/new-reactors-under-iaea-
safeguards-decision-will-be-based-on-source-of-uranium-says-
official/articleshow/67930512.cms 

Babapedia - https://babapedia2021.iasbaba.com/2020/06/20/20th-june-international-
atomic-energy-agency-iaea/ 

 

Q.86) With reference to Trade-Related Investment Measures (TRIMS), which of the 
following statements is/are correct? 

1. Quantitative restrictions on imports by foreign investors are prohibited. 
2. They apply to investment measures related to trade in both goods and services. 
3. They are not concerned with the regulation of foreign investment. 

Select the correct answer using the code given below: 

a) 1 and 2 only 
b) 2 only 
c) 1 and 3 only 
d) 1, 2 and 3 

Solution (c) 

EXPLANATION: 
This Agreement, negotiated during the Uruguay Round, applies only to measures that affect 

trade in goods. Recognizing that certain investment measures can have trade-restrictive and 

distorting effects, it states that no Member shall apply a measure that is prohibited by the 

provisions of GATT Article III (national treatment) or Article XI (quantitative restrictions). 

REFERENCE: 

https://www.wto.org/english/tratop_e/invest_e/trims_e.htm 

https://economictimes.indiatimes.com/news/politics-and-nation/new-reactors-under-iaea-safeguards-decision-will-be-based-on-source-of-uranium-says-official/articleshow/67930512.cms
https://economictimes.indiatimes.com/news/politics-and-nation/new-reactors-under-iaea-safeguards-decision-will-be-based-on-source-of-uranium-says-official/articleshow/67930512.cms
https://economictimes.indiatimes.com/news/politics-and-nation/new-reactors-under-iaea-safeguards-decision-will-be-based-on-source-of-uranium-says-official/articleshow/67930512.cms
https://babapedia2021.iasbaba.com/2020/06/20/20th-june-international-atomic-energy-agency-iaea/
https://babapedia2021.iasbaba.com/2020/06/20/20th-june-international-atomic-energy-agency-iaea/
https://www.wto.org/english/tratop_e/invest_e/trims_e.htm
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Babapedia 

 

Q.87)If the RBI decides to adopt an expansionist monetary policy, which of the following 
would it not do? 

1. Cut and optimize the Statutory Liquidity Ratio 
2. Increase the Marginal Standing Facility Rate 
3. Cut the Bank Rate and Repo Rate 

 Select the correct answer using the code given below: 

a) 1 and 2 only 
b) 2 only 
c) 1 and 3 only 
d) 1, 2 and 3 

Solution (b) 

EXPLANATION: 
When expansionist monetary policy has to be enforced, in simple terms it means money 

flow in the market should be increased, for that RBI takes several Qualitative and 

quantitative measures such as decreasing Repo Rate, SLR etc. 

REFERENCE: 

https://www.economicsdiscussion.net/reserve-bank/monetary-policy-of-rbi-policy-of-
credit-expansion-control-with-evaluation/31364 

https://iasbaba.com/2020/05/rbi-new-announcement-to-boost-economy-all-india-radio-air-
ias-upsc/ 

Q.88)With reference to the Indian economy after the 1991 economic liberalization, 
consider the following statements: 

1. Worker productivity (per worker at 2004 — 05 prices) increased in urban areas while 
it decreased in rural areas. 

2. The percentage share of rural areas in the workforce steadily increased. 
3. In rural areas, the growth in the non-farm economy increased. 
4. The growth rate in rural employment decreased. 

Which of the statements given above is/are correct? 

a) 1 and 2 only 
b) 3 and 4 only 

https://www.economicsdiscussion.net/reserve-bank/monetary-policy-of-rbi-policy-of-credit-expansion-control-with-evaluation/31364
https://www.economicsdiscussion.net/reserve-bank/monetary-policy-of-rbi-policy-of-credit-expansion-control-with-evaluation/31364
https://iasbaba.com/2020/05/rbi-new-announcement-to-boost-economy-all-india-radio-air-ias-upsc/
https://iasbaba.com/2020/05/rbi-new-announcement-to-boost-economy-all-india-radio-air-ias-upsc/
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c) 3 only 
d) 1, 2 and 4 

Solution (b) 

EXPLANATION: 

Statement 1: Workers productivity increase in both Urban and Rural areas but the rate of 

increase was high in Urban compared to Rural areas.  

Statement 2: The percentage share of rural areas in the workforce increased for male but 

reduced for females. 

Statement 3: In rural areas, the growth in the non-farm economy increased. 

Statement 4: Growth rate was positive but the rate of growth got increased after 1992 

liberalization.  

 
REFERENCE: 

https://shodhganga.inflibnet.ac.in/bitstream/10603/24233/13/13_chapter%206.pdf 

 

 

Q.89)Consider the following statements: 
1. In terms of short-term credit delivery to the agriculture sector, District Central 

Cooperative Banks (DCCBs) deliver more credit in comparison to Scheduled 
Commercial Banks and Regional Rural Banks 

2. One of the most important functions of DCCBs is to provide funds to the Primary 
Agricultural Credit Societies. 

Which of the statements given above is/are correct? 

https://shodhganga.inflibnet.ac.in/bitstream/10603/24233/13/13_chapter%206.pdf
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a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither It nor 2 

 

Solution (b) 

EXPLANATION: 

Statement 1: District Central Co-operative Banks provides funds to credit societies and not 

to individuals directly, hence the first statement is incorrect.  

REFERENCE: 

https://shodhganga.inflibnet.ac.in/bitstream/10603/106254/9/09_chapter%203.pdf 

 
Q.90) In India, under cyber insurance for individuals, which of the following benefits are 
generally covered, in addition to payment for the loss of funds and other benefits? 

1. Cost of restoration of the computer system in case of malware disrupting access to 
one's computer 

2. Cost of a new computer if some miscreant wilfully damages it, if proved so 
3. Cost of hiring a specialized consultant to minimize the loss in case of cyber extortion 
4. Cost of defence in the Court of Law if any third party files a suit 

Select the correct answer using the code given below: 

a) 1, 2 and 4 only 
b) 1, 3 and 4 only 
c) 2 and 3 only 
d) 1, 2, 3 and 4 

Solution (b) or (d) 

EXPLANATION: 

https://shodhganga.inflibnet.ac.in/bitstream/10603/106254/9/09_chapter%203.pdf
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Q.91) With reference to cultural history of India consider the following pairs: 
1. Parivrajaka   Renunciant and Wanderer 
2. Shramana   Priest with a high status 
3. Upasaka   Lay follower of buddhism 

Which of the pairs given above are correctly matched? 

a) 1 and 2 only 
b) 1 and 3 only 
c) 2 and 3 only 
d) 1,2 and 3 

Solution (b) 

REFERENCE: 

ILP Value Add Notes-Ancient India: All three were covered in VAN- Direct Hit 
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Q.92) With reference to Indian elephants, consider the following statements: 
1. The leader of an elephant group is a female 
2. The maximum gestation period can be 22 months. 
3. An elephant can normally go on calving till the age of 40 years only. 
4. Among the States in India, the highest elephant population is in kerala. 

Which of the statements given above is/ are correct? 

a) 1 and 2 only 
b) 2 and 4 only 
c) 3 only 
d) 1,3 and 4 only 

Solution (a) 

EXPLANATION: 
Statement 1: Elephant families have a matriarchal head, meaning that an older, experienced 

lady elephant leads the herd. A family usually consist of a mother, her sisters, daughters 

their babies (calves). Occasionally, non-related elephants join to form families. Female 

family units range from three to twenty five elephants. 

Statement 2: The Gestation period of African elephant is 22 months and for Asian elephants 

it is between 18-22 months. 

Statement 3: Elephants can reproduce till the age of 45-60 years. 

Statement 4: Karnataka has the highest Elephant population in India.  
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REFERENCE: 

https://www.bbc.com/news/health-18507515 

Highest elephant in Karnataka. 

 

https://iasbaba.com/2020/08/world-elephant-day-the-big-picture-rstv-ias-upsc/ 

 

Q.93) Which of the following Protected Areas are located in the Cauvery basin? 
1. Nagarhole National park 
2. Papikonda National park 
3. Sathyamangalam Tiger Reserve 
4. Wayanad Wildlife sanctuary 

Select the correct answer using the code given below: 

a) 1 and 2 only 
b) 3 and 4 only 
c) 1,3 and 4 only 
d) 1,2,3 and 4 

Solution (c) 

EXPLANATION: 
Papikonda comes in Godavery Basin rest all comes under Cauvery Basin. 
REFERENCE: 

 

 

 

https://www.bbc.com/news/health-18507515
https://iasbaba.com/2020/08/world-elephant-day-the-big-picture-rstv-ias-upsc/
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Q.94)With reference to India’s biodiversity, Ceylon frogmouth, Coppersmith barbet, Gray-
chinned minivet and White- throated redstart are 

a) Birds 
b) Primates 
c) Reptiles 
d) Amphibians 

Solution (a) 

EXPLANATION: 
Ceylon frogmouth, Coppersmith barbet, Gray-chinned minivet and White- throated redstart 

are birds found in India. 

REFERENCE:Babapedia and also covered in Current Affairs Sessions 

 

 

 
Q.95) Which one of the following protected areas is well-known for the conservation of a 
sub-species of the Indian swamp deer (Barasinga) that thrives well in hard ground and is 
exclusively graminivorous? 

a) Kanha National Park 
b) Manas National Park 
c) Mudumalai Wildlife Sanctuary 
d) Tal Chhapar Wildlife Sanctuary 

Solution (a) 

EXPLANATION: 
The hard ground swamp deer, popularly known as Barasingha in India, which was once close 

to extinction in Kanha National Park in Madhya Pradesh, has been saved through a 

successful breeding program and conservation practices. After five decades of dedicated 
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and efficient conservation work, the population of swamp deer in Kanha National Park is 

800. 

REFERENCE:Babapedia:  

 

Q.96)Steel slag can be the material for which of the following? 
1. Construction of base road 
2. Improvement of agricultural soil 
3. Production of cement 

Select the correct answer using the code given below: 

a) 1 and 2 only 
b) 2 and 3 only 
c) 1 and 3 only 
d) 1,2, and 3 

Solution (d) 

EXPLANATION: 

The use of steel slag as an aggregate is considered a standard practice in many jurisdictions, 

with applications that include its use in granular base, embankments, engineered fill, 

highway shoulders, and hot mix asphalt pavement.  

REFERENCE: 

http://www.slg.jp/e/slag/usage.html 

 

Q.97) Which of the following are the most likely places to find the musk deer in its natural 
habitat? 

1. Askot Wildlife Sanctuary 
2. Gangotri National Park 
3. Kishanpur Wildlife Sanctuary 
4. Manas National Park 

Select the correct answer using the code given below 

a) 1 and 2 only 
b) 2 and 3 only 
c) 3 and 4 only 

http://www.slg.jp/e/slag/usage.html
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d) 1 and 4 only 

Solution (a) 

EXPLANATION: 

Himalayan Musk deer is found in the areas between Ladakh to Sikkim i.e. Askot wildlife 

Sanctuary and Gangotri National Park. 

REFERENCE: 

https://www.downtoearth.org.in/news/wildlife-biodiversity/fading-scent-of-musk-deer-
55664 

60 Days Plan - Q.81 (https://iasbaba.com/wp-content/uploads/2020/04/IASBABA-60-
DAYS-PRELIMS-2020-CA-ENG-WEEK-3-4.pdf) 

Also covered in Current Affairs Sessions 

Q.98)In rural road construction, the use of which of the following is preferred for ensuring 
environmental sustainability or to reduce carbon footprint? 

1. Copper slag 
2. Cold mix asphalt technology 
3. Geotextiles 
4. Hot mix asphalt technology 
5. Portland cement 

Select the correct answer using the code given below: 

a) 1, 2 and 3 only 
b) 2, 3 and 4 only 
c) 4 and 5 only 
d) 1 and 5 only 

Solution (a) 

EXPLANATION: 
In rural road construction, copper slag, cold mix asphalt technology and Geotextiles are used 

to ensure environment sustainability.  

REFERENCE: 

https://www.ripublication.com/iraer-spl/iraerv4n4spl_06.pdf 

https://www.aimil.com/blog/importance-of-geotextiles-in-road-constructions-types-of-
geotextiles/ 

 

https://www.downtoearth.org.in/news/wildlife-biodiversity/fading-scent-of-musk-deer-55664
https://www.downtoearth.org.in/news/wildlife-biodiversity/fading-scent-of-musk-deer-55664
https://iasbaba.com/wp-content/uploads/2020/04/IASBABA-60-DAYS-PRELIMS-2020-CA-ENG-WEEK-3-4.pdf
https://iasbaba.com/wp-content/uploads/2020/04/IASBABA-60-DAYS-PRELIMS-2020-CA-ENG-WEEK-3-4.pdf
https://www.ripublication.com/iraer-spl/iraerv4n4spl_06.pdf
https://www.aimil.com/blog/importance-of-geotextiles-in-road-constructions-types-of-geotextiles/
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Q.99) Consider the following statements: 
1. Coal ash contains arsenic, lead and mercury. 
2. Coal-fired power plants release sulphur dioxide and oxides of nitrogen into the 

environment. 
3. High ash content is observed in Indian coal. 

Which of the statements given above is/are correct? 

a) 1 only 
b) 2 and 3 only 
c) 3 only 
d) 1, 2 and 3 

Solution (d) 

EXPLANATION: 
Statement 1: Coal ash contains contaminants like mercury, cadmium and arsenic. Without 

proper management, these contaminants can pollute waterways, ground water, drinking 

water, and the air. 

Statement 2: Coal-fired power plants release large amount of smoke in air which contains 

compounds of sulphur dioxide and oxides of nitrogen into the environment. 

Statement 3: India's domestic coal reserves have high ash content—up to 40 to 45 percent. 

REFERENCE: 

https://www.epa.gov/coalash/coal-ash-
basics#:~:text=Coal%20ash%20contains%20contaminants%20like,drinking%20water%2C%
20and%20the%20air. 

 

 

https://www.epa.gov/coalash/coal-ash-basics#:~:text=Coal%20ash%20contains%20contaminants%20like,drinking%20water%2C%20and%20the%20air
https://www.epa.gov/coalash/coal-ash-basics#:~:text=Coal%20ash%20contains%20contaminants%20like,drinking%20water%2C%20and%20the%20air
https://www.epa.gov/coalash/coal-ash-basics#:~:text=Coal%20ash%20contains%20contaminants%20like,drinking%20water%2C%20and%20the%20air
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Q.100) What is the use of biochar in farming? 

1. Biochar can be used as a part of the growing medium in vertical farming. 
2. When biochar is a part of the growing medium, it promotes the growth of nitrogen-

fixing microorganisms. 
3. When biochar is a part of the growing medium, it enables the growing medium to 

retain water for longer time. 

Which of the statements given above is/are correct? 

a) 1 and 2 only 
b) 2 only 
c) 1 and 3 only 
d)  1, 2 and 3 

Solution (d) 

EXPLANATION: 
Uses of Biochar: 

• Evidence shows that bioavailability and plant uptake of key nutrients increases in 
response to biochar application 

• Decontamination/removal of organic pollutants from soil and water 

• Oil carbon sequestration and mitigate GHGs emission 

• A system converting biomass into energy (hydrogen-rich gas) and producing biochar 
as a by-product might offer an opportunity to address many problems 

 
REFERENCE: 

https://www.intechopen.com/books/applications-of-biochar-for-environmental-
safety/importance-of-biochar-in-agriculture-and-its-consequence 
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